asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run4197 000 r

[ —a5r
i —gor
20000 —130( 20000
| —so0
[ —a5(
10000 - 10000
. 400
i 300
= 0
- 15 300
10000 |- o 10000 0
20000 50 20000 100
i 11 I L1 1 | L1 1 | L1 1 | L1 1 | | I |
-4 2 0 2 4 g U o
difi_bpmdaX/um diff_bpmdaYium
dithpmélaL diff_
- I -
- —a5( - —70C
20000 20000
15000 —{a0c 15000 —|60C
- . -
10000 :— a5 10000 :— —50r
5000 - 5000
- 200 - 400
0 ]
- 15( - 300
5000 -5000
10000 100 10000 200
15000 - 0 15000 = 10€
20000 20000
| | I | | | | | | | | | | | | | | | | 1 1 1 D | | | | | | | | I 1 | | | | | | | | | | | {'
4 2 ) F) 4 & _40) _20 ) 20 40 B0
difi_bpmdaX/um diff_ bpmdaYium
diff_bpm4aX = diff_
10000 — —139( 10000
i —goc
i —anr
5000 - 5000 - —50r
. —ag(
i 40(
- 200
= 0
i 15¢ 30¢
=5000 _— 100 ~5000 200
| 50 108
10000 10000
i 1 N N T M N T M N N T M A A A I O B B o I T N TN N N U T [N N T T N N MO T N O O 0
4 2 ) 5 4 & _40 _30 ) 20 40 &0
difi_bpmdaX/um diff_ bpmdaYium
dlfL d .
B — B — 00
8000 —|ot 8000
_ N —{ 800
000 —a5( 000 [
C C — 7L
4000 o 4000 [
- - —gor
2000 — 2000
- " 500
o (U
~2000 ~2000 | 40t
~4000 |- ~4000 |- s
-6000 [ 1ot ~B000 [ 201
~BO00 | 0 8000 10

10000

10000

egression-asym sam24(

VS

-

| I

| H — B0
20000

i —150C
10000 ~ —anr

ﬂ -

10000
20000

_I I 1 111 I 1111 | 1 111 | 1111 | 1111 | 1111 | |

30 20 -10 0 10 20 a0
diff _bpmdeX/um

diff

20000

—70C

.I
|

15000

10000

2000

0

=5000

10000

15000

20000

i IR A N B AN N A A A A A A A A O
—.']-D 20 =10 0 10 20 30
diff_bpmdeaXium

diff_bpmdeX

10000 — — 600

| —{s0¢
000

: —400

ﬂ_

B a0
=000 |- 20(

i 10¢
10000 _— n [ |

plvvvr bvv v b v bvr o bv v by a b 0

~30 20 =10 1] 10 20 an

diff_bpm4eX/um

d.
8000 | oo
000 [

N —500
4000 |
2000 |

of

~2000 |
-4000 |- 200
~B000 [

- 100
-8000 -

C III|J_|II|IIII|IIII|IIII

m”““ y
[

i —&00 | —
i B ]
i i —60r
20000 - e 20000 -
: : —(501
[ - N
10000 - —140( 10000 —
- . -
[ N i
10000 20( 10000 |-
20000 [~ 100 20000 — 100
[ u i
i |||||||||||||||||||||||||I||| D _I||||||||||||||||||||||||||||||||||||||||||||| ﬂ
-Eﬂl =10 1] 10 20 an =50 =40 =30 =20 =10 1] 10 20 an 40
difi_bpmdaYium diff_bpmEfium
difL d.
N — [ — 700
20000 | 20000
: —60c : -t
- - —{600
15000 15000 —
- 5o - ]
10000 10000 500
N C W
5000 400 5000
o oF
- a0 ~
- - ]
5000 | ~5000 -
B 200 [ [ |
10000 10000 —
Z - |
15000 100 15000
i - : 0L
- . -
20000 20000 £~ -
||||||||||||||||||||||||||I||| D ||||||||||I|||||||||||||||||||||||||||||||||| ﬂ
20 =10 1] 10 20 a0 —E-D 40 =30 =20 =10 1] 10 20 an 40
diff _bpmdeium difi _bpmEfum
diff diff hme
10000 — 10000 — |
I —{B0C i o0t
i — 500 i P
5000 — Lo0o —
i | B
R —140( B
o o
i 300 i
~5000 [~ 20 ~5000 |- g
: 100 :
10000 - 10000 —
_||||||||||||||||||||||||||||||| o _||||||||||||||||||||||||||||||||||||||||||||||| 0
20 =10 1] 10 20 an 50 40 =30 =20 =10 1] 10 20 an 40
diffi_bpmdaYium diff_bpmEfum
diff_bpmdeY diff_
8000 - s 8000 [ —700
- l - -
6000 |- —{70 B000
B [ —{ 600
- - ]
4000 — —{g0r 4000 — -
2000 S 2000
n n u
g (g
[ 400 B
~2000 [ -2000 - o
C 300 N
~4000 I~ ~4000 |
. 200 [
~B000 -g00a —
B B [ |
- 0 - ]
8000 |- - 1o 8000 [ 1
B [ | K [ |
-|||||||||||||||||||||||||||I||| -|||||||||||||||||||||||||||||||||||||||||||||
000 =10 10000 =50 40 =30 20 10 O 10 20 30 40 o
diff _bpmEfum

" postpan.png



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

rund197 000

8000 —25(
BO00 -
4000 - — 200
2000
- 15(
o
~2000 | .
-4000 |
6000 [ =0
-8000 |
11 I L1 1 | L1 1 | L1 1 | L1 1 | | I | D

diff_bpm4aX/um

h[_LmélaL N

&

4000
3000 —25(

2000
- —{ =00

1000
O 150

-1000
2000 1ol

-3000
- 50

—4000

—E'DDD : | | I | | | | | | | | | | | | | | | | L1 1 D

diff_bpmdaxsum

d.
2000

1500 —{35(

1000

500

~500

=1000

=1500

=2000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmdaX/um

—(35(
1500

1000

500 —25(

-500

=1000

=1500

=2000

regression-reg

diff_bpmdeX

N N —250 N
8000 [ _epe 8000 |- 8000 |-
&000 6000 G000 |
. - —20( C
- _| ‘ mnm N -
4000 40t 4000 = 4000 [
2000 2000 157 2000 -
N 300 N N
o ol ol
N N B |
2000 |- 200 2000 |- 100 -2000 |-
" - u "
4000 |- -4000 |- 4000 — M
B [ = B
- 100 - a0 N
6000 |- ~B000 |- = ~6000 |-
~8000 [ ~8000 | ~8000 [
_|III|III|III|III|III| ﬂ _IIIIIIIIII|IIII|IIII|IIII|IIII|I ﬂ B |IIII|IIIIIIIIIlIIIIlIIIIIIII
40 20 0 20 40 &0 30 -20 10 0 10 20 30 20 -0 0 10 20 a0
diff bpmdaYium difi_bpmdaX/um difi_bpmdaY/um
! . ff ] I j i l- l
4000 4000 4000 |
- —=0C - —{25( =
anoo — 3000 an0no
2000 —{40( 2000 apr 2000
1000 1000 1000
of ® 3 of 1% of N
- u - - u
~1000 |- ~1000 F m ~1p00 ™
- = 200 - 100 -
~2000 ~2000 -2000
- - -
~3000 |- 100 ~3000 F- 5 ~3000 |-
4000 -4000 4000 |
- m m - - m m
_E.DDD_llII|III|III|III|III| ﬂ _EDDD_IIIIIIIIIII|IIII|IIII|IIII|IIII|I ﬂ _EDDD_II|IIII|IIII|IIII|IIII|IIIIIIII
40 20 o 20 40 &0 30 -20 10 o 10 20 30 20 -10 o 10 20 30
diff_bpmdaYium difi_bpmdaX/um difi_bpmdaY/um
diff_ diff_ diff _ hpmélcY
- — {800 N N
2000 & " aomn 2000 & 135t 2000
: —70( = -
1500 1800 —anr 1800
= — 600 = [
1000 1000 | 1000
- - —25t N
500 | —|=0C 500 500
oF u 400 ofF ofF u
~500 | _500 _enn
- = 300 - ] S
~1000 ~1000 ~1000
- 201 - -
_1500 -1500 ~1500 [
- 100 - : =
~2000 |- - ~2000 |- - ~2000 |- -
i A N T N O T T T T Y O I I O A 0 Frlvrre bvv v b v brrrr ber b a b 0 JEEEEEEEEEEEE NN NN AR NN NN
40 20 0 20 40 &0 30 -20  -10 0 10 20 30 20 -10 0 10 20 a0
diff_bpmdaYium difi_bpmdaX/um difi_bpmdaYium
diff _ diff _ diff _bpmdeY
- I - -
1500 | —{Boc 1500 lane 1500 |
1000 1000 1000 |
N —{501 - N —{25¢ n
- u u N
H I 00— 500
n 400 n N
o u o o ™ u
N N . n
n 30( - o n
~500 — ~500 — u ~500 [~
~1000 200 ~1000 | ] ~1000 |
_150[]:— 10( -1EDD:— -15[:1[]:— -
n n n =
-2000 - 2000 - 2000
B B B oo bvvva bv v by o s b

's

sam2468vs diff hpm-(

—|45(

— 350

300

25(

200

15(

100

300

200

100

— 700

400

30C

200

100

30C

200

1.LZ postpan:png

ROOO —45(

6000

—35(
4000

2000

=2000

=4000

100

~6000
o0

~8000

n |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
-5& =40 =30 =20 =10 0 10 20 30 40
diff_bpmEfium

4000

3000

2000

1000

=1000

=2000

=3000

-4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII
|

TI|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
=5000 50 40 -30 -20 -10 O 10 20 30 40 o
difi _bpmEfum

diff

2000

"amnmsn 7

1500

1000

500

o

- 500

=1000

=1500

100

= 2000

T bvvrrbevesbvvvabvrre b b bvoabevvan boaa 0
50 40 =30 =20 10 O 10 20 30 40
diff_bpmEfum

1500

1000

200

- 500

=1000

=1500

=2000

1 |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
—5& 40 =30 20 10 0 10 20 30 40
diff _bpmEfum



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

rund4197 000 regression asym |

=

diff_bpmdaX

1o000 2 | ndf 107.3/ 45 20000 1 %2 / ndf 68.04 / 30 . { y2/ndf 554748
10000 |- m + PO -8.071+ 28.378 15000 [~ PO -5651+ 28.693 15000 - - %Ht“ p0 1.27 + 15.05
- B = i
- t - : »
5000 } Py : P1 -1389+22.3 10000 |- | p -219.3+ 3.8 10000 £ p1 -657.8 +1.9
N } HH’r 5000
o o -
i " ’ . of
~5000 — ﬁ%{ B ﬂ:_ ~5000 E—
10000 [ {‘l \ so00 - +’f+++++ .- - 10000 3 w
15000 [ -
15000 i - i
: 10000 — 20000 £ }
E-DDI:II:I;—II'III'II||||||||||||| |_||||||||||||||||||||| '_|||||||||||||||||||||||||||||||||||
4 2 o 2 4 6 —40 _20 0 20 40 60 30 -20 10 0 10 20 30
diff_bpm4aX diff bpm4aY  diff_bpmdeX
- 15000 |—
8000 |- %%/ ndf 101.6 /45 7=/ ndf 51.41 /30 E -HTH %2/ ndf 41.95/ 48
6000 [ { ]l p0 1.668 + 21.534 p0 —0.6473 = 19.7181 ) 10000 — e pO 9.002 + 10.649
4000 ]Lﬁjr‘d' p1 ~808.2 + 17.1 p1 259.4 + 2.6 WH‘ 5000 p1 -498.4 + 1.3
2000 - i -
- } 5000 - o o
o ! n * -
-2000 _ ) ' o ~5000 |
~4000 — MLHH‘ \l 5000 f_ ) M ", 10000 ;— "y
6000 | L - ]MH' - +I‘H+—,
- 10000 } 1 15000
-8000 | E -
'1.D|:||:||:|-l_—|||||||||||||||||||+||| 1EDDDJ_—||||||||||||I|||||||| E'DDDD:rllllllllllllllll||||||||||||||_||||
4 2 0 2 4 6 40 ~20 0 20 40 60 30 -20 10 0 10 20 30
%2 / ndf 125#9"45 %2 / ndf 54 85/ 30 2/ ndf 4841 ! 48
pO 7513 + 11.278 pO 7.446 + 10.609 M S p0 5.597 + 6.505 J,: i
57 -
p1 575.3 + 8.9 i p1 1373414 [ p1 252.2+0.8
2000 - ++HJH 1 . =T
: 2000 : °F
= B L +f B
: - 4000 2 { H‘lﬁh Bl
_2000 |- } ’ : } Jﬂ[ B
- * +H11T+r* 6000 - { ~4000 [
: } N B {thﬁ
~4000 % ~8000 | a0 '{[w
—E.-DI:IU;—II|III|III|III|III|III 1HDDD;—|_|||||||||||||||||||| _EDDD'I_||||||||||||||||||||||||||||||||||
4 2 0 2 4 & ~40 ~20 0 20 40 60 30 -20 -0 0 10 20 30
diff f diff
hpmélaL diff _ bpmdaY _bpmdeX
%2 ndf 92.24 / 45 [} ¥ / ndf 50.08 / 30 %2/ ndf 41.65/ 48
ool 1 -
PO -0.1498 * 8.0257 _ - Hﬂ# p0  1.375+6.686 PO -2.326 + 4.868 .
2000 [ } H"‘ ﬂHWL ;
p1 283.5+6.4 “ - p1 -121.2x 09 p1 1701 £ 0.6 1
1000 |- #hﬂﬂm{ or 2000 -
ok : ~2000 n .
| } | 1 iy |
- ~4000 - i
1000 [ N I
I ﬁﬁw} : J ~2000 -
~2000 | { -6000 - ) - P&
: [ ~4000
~3p00 -8000 - [
L I T R I | I T T N I | L1 1 I

%

bpm4aY

sam2468°

VS dﬁ‘f‘bpf‘it

diff_bpmdeY

15000 %2/ ndf 100.8/ 30
p0 -1.081 %+ 29.007

10000

5000

=5000

10000

IR

1 31174 6.4

e

Sy » _
f

=20 =10 1] 10 20 a0

diff_bpmdeY

¥/ ndf 60.38/30

p0 2.2+19.3
p1 4642 +4.3 WM
i i
5000 [ J’H#}
of
~5000 |- {
Ul
10000 [ “
:I||||||||||||||||||||||||||||||||
20 10 0 w20 a0
%2 / ndf E?BSJ"EU }
p0 5.123 + 10.806 MJ‘M
p1 En-a.?ie.at/
of
_zunn:—
; HW
~4000 |-

_ﬁunn:—_|
'mnn_l_||||||||||||||||||||||||||||||||
200 <10 0 v 20 3o

diff _bpmdeY
- w2/ndf  55.56/30
mnn_—jﬂ#
- * e, p0 0.295 + 6.537
2000 |
- p1 2104 1+1.4
or
-:mnn:—
i ik
—EDDD:— -
_e.unn:—
_I||||||||||||||||||||||||||||||||

- postpan.png

diff _bpmE

%2/ ndf 26.8 /24
p0  -8.83128.43 M
p1 327.214.8 H’H

. }

=5000

10000

15000

diff _bpmE

-40 =20 1] 20 40

2 | ndf 55.44 [ 24 -
p0 3.006 + 20.871 n
f
p1 264.4 + 3.5 / H}
ol _
! f
~5000 | *
10000 -—
_I | | | | I_ | | | | 1 | | | | | | | | |
40 20 (1] 20 40

"-"1

6000

4000

2000

=2000

~4000

= 6000

iff _bpmE

2 /ndf 2854 /24
- p0 11.9+£11.3

-133.3£19

m &

diff

5000

4000

3000

2000

1000

1]

=1000

= 2000

=3000

-4000

40 -20 0 20 40
%=/ ndf 56.49 / 24
po —0.6767 £ 7.8405

-89.62 £1.32

Y
+ 'Wa

-40 -20) 1] 20 40



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

rund197 000 regression reg

diff_bpm4aX

4000

3000

2000

1000

o

=1000

=2000

=3000

—|I|IIII|IIII|IIII|IIII|IIIIIIIIIIIIIIIIIIII

=4000

%2/ ndf

46.05/ 45

p0 4.308 £ 10.667

p1 -9.132 £ 8.652

| {WEMM I ({ -J

-4 -2 1] 2 4 6
diff_bpm4aX
: '
1500 |- / ndf 55.3 /45
: p0 5.71 + 5.34
1000
: pl  —-8.078 + 4.349
500 |] ,
| il
of | I KL Hgtsmemanitey
: i
500
1000 |
1500 |
; 11 | 11 1 | 1 1 | 11 1 | 1 1 | 1 1
4 -2 1] 2 4 [

diff_bpm4aX

¥2 / ndf 71.92 /45
p0 3.985+ 2.182
p1 1.238 +1.793

N[ [mer—

- [ g

200 Il ﬁ
-4ﬁDE‘
—EﬁD;‘
_BO0 PRI I RTIN NY NN N NN HNT SO AN NN N MO

4

-2 1] 2 4

[

diff_bpm4aX

E / ndf 49,33/ 45
p0 -1.025 £+ 2.019
p1 2962 + 1.649
- I ‘ T
°F Mﬂ HM}{
=200 :— |
—4&0;‘
EﬂD:'
; | | | | | | | | | | | | | | | | | | |-|

%

3000

2000

1000

=1000

=2000

=3000

bpm4aY

- 22/ ndf 43.98 /30
5 00 4991+ 10.758
- } o1 —0.4612 +1.4318
i } PLI t |
N | | ]‘ + +
‘l'_ | | | | | | | | | | | | I | | | | | | | |

=4 =20 0 20 40 el

°1

1500

1000

500

- 500

=1000

=1500

iff bpmdaY

"-"1

400

200

=200

=400

=600

- 800

po

p1

- %2/ ndf 37.54 /30
= p0 5.434 + 5.384
- o1 —0.8906 + 0.7153
-t

31 T

: NL i } J

; | | | | | | 1 | | | | | I 1 1 | | | | | |

40 20 (1] 20 40 &0
3_ %2 I ndf 21.96/30
i p0 3.692 + 2.201
| W -0.1351+ 0.2957
;| ' B I I A I I i |_| R

40 =20 (1] 20 40 a6l

+2 { ndf

-0.6741% 2.0355

0.0809 = 0.2693

32.85/30

200

=200

- 400

sdﬁ246§' vs diff

T

i

}W W%Wﬁ#ﬁw

E

4000

3000

2000

1000

=1000

= 2000

=3000

diff_bpmdeX

1500

1000

500

=500

=1000

=1500

=2000

-2500

bpmdeX

%= / ndf 51/ 48
p0 4.05 £ 10.62

p1 -1.446 £+ 1.336

'|I|IIII|IIII|IIII|

| WWW ; ‘MH

=30 -20 =10 1]

10 20 30

2/ ndf 37.41/48
p0 6.803 + 5.321
pl  —0.3602 + 0.6734

'II|IIII|IIII|IIII|

| WWM“*‘"“W

-30 =20 =10 1]

10 20 30

diff_bpmdeX

%2 [ ndf 4214 [/ 48
p0 4105 + 2177
pi 0.1095 + 0.2738

=200

=400

ol lvvra barrra |l

\w o

N

|

=30 =20 =10 1]

10 20 a0

diff_bpmdeX

p0

pl

12/ ndf

48.01 /48

-1.398 = 2.015

0.1243 £ 0.2532

[y

0

=200

=400

-600

- 800

=1000

|III_|J_IIII|IIII|

| WWWH%

f

-m

diff _

4000

2000

= 2000

=4000

diff_bpmdeY

1000

500

-500

= 1000

diff _

400

200

- 200

- 400

=600

-B00

diff_

600

400

200

- 200

~400

m-fit postpan.pns”

H

2 | ndf 48.38 /30
p0 3.869 + 10.753
p ~0.8957 + 2.3740

=20 =10

10 20

a0

: - ¥2/indf 17.11/30
3 p0  5.747+5.383
F - pl  -1.011+1.189
- il
:_I | I L1 11 I L1 11 | L1 11 | L1 11 | L1 11 | L1 11

-20 =10 10 20 30

i szl1df 35.07 7 30
i } p0 3.886 £ 2.200
[ - p1 -0.2152 +£ 0.4907
L t + T .
e
;II lovs o b vr v v a1 |||||_||||| 111

=20 =10 10 20 an

|

|

2 | ndf 30.76 / 30
p0 ~0.748 + 2.035
pl  —0.0243 + 0.4489

10

%

3000

2000

1000

=1000

= 2000

=3000

JIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

HH*WM _'

bpmkE

%2 / ndf
p0

p1

11.45/ 24

7.571 £ 10.729

-1

424 £ 1.815

|

|

40 20 0 20 40
2000 I
. %2/ ndf 14,72/ 24
1500
- po 9.314 £ 5.372
1000 |
n p1 —0.8548 £ 0.9097
500 } : ‘
R i}
500 [
~1000 | |
~1500 [
—E'DUU :_I | | | | | | | | | 1 | | | | | | I_ | |
40 20 0 20 40
diff bpmE
x?indt 18.45/ 24
PO 5.093 + 2.200 -
p1 0.09644 + 0.37409 |
- ] | | f ’} '
oF _ WW||| | ]
_sp0 - |
400 —
600
N N I A i A |_| L
_40 20 0 20 40
E ! ndf 15 41724
po -2.32 +2.03
p1 0.2845 + 0.3433
LV B
- . w } ll
Fo
_sp0 - | {
_400 -
_E_DD i | | | | | | | | | 1 | | | | | | I_ | |
40 _20 0 20 40




asym_sam

asym_sam

asym_sam

asym_sam

run4197 000 r

20000

10000

10000

20000

20000

15000

10000

5000

=5000

10000

15000

20000

10000

5000

=5000

10000

8000

6000

4000

2000

o

=2000

-4000

-6000

~B000

10000

diff_bpm4aX/um

diff_bpmdaxsum

diff_bpmdaX/um

20000

10000

10000

20000

20000

15000

10000

2000

5000

10000

15000

20000

10000

2000

~5000

10000

6000

4000

2000

o

=2000

~4000

6000

-8000

10000

egression-asym

diff_bpmda¥ium

diff_bpmda/um

diff_bpmda¥ium

5

—Eﬂ

am

12468 vs

20000

10000

10000

20000

30 20 -10 0 10 20 a0
diff _bpmdeX/um

20000

15000

10000

2000

=5000

10000

15000

20000

10000

2000

~5000

10000

=30 =20 =10 1] 10 20 a0
diff_bpmdaX/um

8000

6000

4000

2000

=2000

~4000

~6000

-8000

30 20  -10 0 10 20 a0
diff_bpmdeX/um

i Boics

20000

10000

10000

20000

diff_bom4eY/um

20000

15000

10000

5000

= 5000

10000

15000

20000

|
=20 =10 1] 10 20 30
diff_bpmday/um

10000

5000

= 5000

10000

diff_bpmdaY/um

6000

4000

2000

o

= 2000

=4000

= 6000

=B000

—Eﬂ —1ﬂ

10000

cat_postpan" Ppne

20000

10000

10000

20000

iff _ bpmE

20000

15000

10000

2000

=5000

10000

15000

20000

10000

2000

~5000

10000

iff _ bpmE

8000

6000

4000

2000

=2000

-4000

~6000

-8000

10000

=50 40 =30 =20 10 0 10 20 30 40
diff_bpmEfium

50 40 -30 -20 -10 O 10 20 30 40
difi _bpmEfum

-50 A0 -30 20 10 O 10 20 30 40
diff_bpmEfum

50 40 30 20 10 0 10 20 30 40
diff _bpmEfum



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run4197 000 resression-reg

8OO0 —

6000 -

4000 -

2000 =

2000

4000 -

=6000 [~

8000 [~

4000

3000

2000

1000

=1000

=2000

=3000

-4000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpm4aX/um

6

—-E'DDD 11 I 11

jij[flf:___
2000
1500

1000

500

~500
=1000
=1500

=2000

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diff_bpmdaxsum

6

1500

1000

500

-500

=1000

=1500

=2000

diff_bpmdaX/um

[

| L »
8000 [~ 8000 8000 -
BO00 6000 6000 —
4000 4000 4000 —
2000 2000 2000 —
0 o 0 —
-2000 -2000 - 2000 —
4000 ~4000 - 4000 —
~B000 6000 6000 —
~BOOD ~BDOO —BDOO —
| 4}} L 1 1 E.I} |
difi_bpmdaYium diff_bpmdeX/um difi_bpmdaYium
. . .
dif_bpmdaY it it
4000 4000 E— 4000 —
3000 3000 f— 3000 —
2000 2000 i— 2000 —
1000 1000 f— 1000 —
0 o ;— i —
~1000 -1000 f— ~1000 —
-2000 _s000 F _2000 |-
3000 ~3000 f— ~3000 —
4000 —4000 f— —4D00 —
~5000 '4:} - Iﬁil} ~5000 :I-:m 5000
diff_bpmdaYium diff_bpmdaX/um diff_bpmdaY/um
2000 f— 2000 f— 2000 —
1500 |- 1500 n | 1500
1000 f— 1000 f— 1000 —
500 E— 500 E— 500 —
ﬂ; ; ﬂ; ﬂ;
500 f— 500 f— 500 —
~1000 - ~1000 ~1000 |-
-15'3"3'5— —15005— -15005—
2000 f— - 2000 f— - 2000 —
o BTN AT B S B R R F 1 ST NS T NN RN N
_40) _20 0 20 40 B0 _30 20 10 0 10 20 30
difi_bpmdaYium diff_bpmdeX/um difi_bpmdeYium
. . .
" — " — -
1500 — L 1500 — - 1500 —
1000 f— 1000 f— 1000 —
500 f— 500 f— 500 —
ﬂ; : “; u;
500 f— 500 f— 500 —
=1000 E‘ -1000 E— ~1000 —
-15nnf— -15005— -15005— .
-zann:—lllll 2000 it -zunn:—” ..I....I....I....I |

samm246%"'m“vs diff bpm-scat postpan.pnge

10

8000

6000

4000

2000

=2000

=4000

~6000

~8000

4000

3000

2000

1000

=1000

=2000

=3000

-4000

~5000

2000

1500

1000

500

- 500

=1000

=1500

= 2000

diff_bpmE

1500

1000

200

- 500

=1000

=1500

=2000

=50 40 =30 =20 10 0 10 20 30 40
diff_bpmEfium

(HTTT

50 40 -30 -20 -10 O 10 20 30 40
difi _bpmEfum

[ TT

-50 A0 -30 20 10 O 10 20 30 40
diff_bpmEfum

50 40 30 20 10 0 10 20 30 40
diff _bpmEfum



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

rund197 000 regression-asym saml357°vs d

N - - - —22( N
8000 8000 gy 8000 epr 8000 8000 lan
- - - - —|2 -
BO00 — epr &000 BO00 — B0O00 - s000 aor
n - - N —18¢ -
4000 [ 4000 —200 4000 —la0c 4000 4000
- : N - — 16t - — 701
- _m[ - - - -
2000 — 2000 2000 — 2000 iat 2000
" " " " C m —{60(
o o | o P of 12¢ o
-2000 - 2000 - 2000 - 2000 [~ 10 2000 [~
—4000 —4000 0 -4000 20t —4000 BOC —4000
" - - " cot -
6000 ~B000 [ 6000 6000 [ 6000 [
- - 500 - 100 - 400 - 200
8000 8000 [ 8OO0 8000 [ ~BODO [
5 - - . 200 . 1ot
10000 = 10000 = 10000 — = 10000 = 10000 =
_III III| III| III| III| | I | D _ll | | | 11 | I 1 11 | | | I| | | | | ﬂ _IIIIIIIIIIlIIIIlIIII|IIII|IIII|I ﬂ B I|IIII|IIIIIIIIIlIIIIlIIIIIIII D _|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
-4 2 0 2 4 & _40) _20 0 20 40 &0 30 -20 =10 ) 10 20 an 20 10 0 10 20 30 50 -40 -30 -20 -10 0 10 20 30 40
difi_bpmdaX/um diff_bpmdaYium difi_bpmdaX/um difi_bpmdaYium difi_bpmEum
:mnnn - — 300 30000 [~ — 30000 [~ :mnnn - —200 30000 [
- - —5n0 - —120C - N —s0r
20000 - —a5( 20000 — = 20000 —{18( 20000 | soc 20000 —
i i i i T | m
. _ - _ | . - _
- ' —40 i 16l - i —a0
10000 [~ —apr 10000 [~ 0 10000 = yar 10000 [~ 10000 [~
B B B B —{30C B
B R T R 12( B R
or 15¢ o or or or
i B B i 200 B
10000 |- 100 10000 [~ 20 10000 [~ 10000 [~ 10000 [~
20000 — 50 20000 — 100 20000 — 20000 100 20000 — 10
:}DDDD_III III| III| III| III| L1 1 D mnnn_ll | | | L1 | I 1 L1 | | | I| | | | | {' :H}DDD_IlllllllllllllllllllI|IIII|IIII|I ':}DDDD_ |IIII|IIII|IIII|IIII|IIII|III D ':}DnnnI_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
4 2 ) F) 4 & _40) _20 ) 20 40 B0 _ap -20 10 ) 10 20 an 50 10 ) 10 20 an 50 -40 -30 -20 -10 O 10 20 30 40
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYi/um difi_bpmEfum
diff_ diff _ diff_ diff_bpmdeY diff _
10000 —B0L 10000 - 10000 eoc 10000 —30( 10000
- —a5¢ - - " —100
8000 8000 8000 8000 8000
B —500 —anc - - =5t N
BOOD B000 BOOD —40¢ Bo00 | BOOO — laoc
4000 | —{40c 4000 —2st 4000 [ 4000 |- —{20¢ 4000
3 - 30( 3 -
2000 F 2000 0 2000 | 2000 F 2000 [
B N B 150 N
(1] — 1] (1] — (1] — 1] —
5 15¢ i 200 5 - .
2000 | ~2000 2000 | 2000 | 10 2000
_ 100 N _ N
4000 | - 4000 4000 | 4000 | 4000
[ [ 100 [ [
B R B B0l R
6000 - ~6000 50C ~B000 ~B000 [~ ~B000 [~
- T T R A B BN A A B B B T B A N A A A o -8000 L 0 SBO00 b b b b b by 0 SBOD0 = ol b s b aa b o =BO00 o L b b b b b b b L 0
4 2 ) 5 4 & &0 a0 -20 1D ) 10 30 an -ED 10 ) 10 30 an 50 -40 -30 -20 -10 O 10 20 30 40
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium difi_bpmE/um
diff_ bpm4aX = dif _bpmdaY = diff _ bpmdeX  diff _bpmdeY diff_bpmE
| — i — i — —1&( | — —lsnr i —
[ | | |
| o - N —50¢ - -
4000 4000 4000 14 4000 4000 —50(
i . i i . i
. 25( . . .
i i o i —12¢ i
2000 2000 2000 2000 2000 —anc
i —ap i i —10c i
B i i —{30( i
00
= ol = 0 ol
- i | 80C _ 300
i 15( [ [ i
i i i - 200 i
~2000 ~2000 - . 200 ~2000 - 2000 = -2000 | 200
I 100 i i (=
i | i 400 -
-4000 ~4000 - ~4000 ~ 4000 101 ~4000
i 0 | 100 B N 100
- - - 20( -
| N | N
-§000 ~6000 - —EDDD ~6000 ~B000 —
III|J_|II|IIII|IIII|IIII IIII|IIIIIIIIIlIIIIlIIIIIIII II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ

mm;e

-50 -40 30 -20 10 O 10 20 30 40

O e



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run4197 000 r

diff_bpmd4aX

diff_bpmdeY

1500 | 1500 | —70( 1500 [ 1500 [~
- a5 - - —a00 -
1000 1000 — 1000 1000
- —anr - 60( - -
i [ i —25( i
500 :— P B00 :— —{ 500 B00 :— I 500 :—
n ‘= " 20C n
ﬂ:— ﬂ:- u 400 ﬂ:‘ ﬂ:— u
i [ [ 15L i
~500 - ~500 [~ 00 -500 ~500 [~
- - - 100 -
~1000 - ~1000 [~ 200 ~1000 |- ~1000 [~
1500 | ~1500 |- 0 100 1500 | = = 50 ~1500 |-
—E‘DDD_ IIIIlIIIlIIIlIIIlIII D _E_Dnn_lllllllllllllllllIII| ﬂ _E_DDD_IIIIIIIIII|IIII|IIII|IIII|IIII|I ﬂ _E_DDD_I|IIII|IIIIIIIIIlIIIIlIIIIIIII
-4 2 0 2 4 & _40) _20 0 20 40 &0 30 -20 =10 ) 10 20 an 20 10 0 10 20 30
difi_bpmdaX/um diff_bpmdaYium difi_bpmdaX/um difi_bpmdaYium
B —an( B - —a5( -
3000 3000 —|70c 3000 |- 3000 -
i — 35 B B —anc i
2000 [~ 2000 —60L 2000 [~ 2000~ W
B — a0 R R B
— - - —og( —
1000 |- 1000 |- —P 1000 |- 1000 F m
B = - B - W |
C C C 20( C
B i 400 i B
o o [ | o o m
- - 300 - 1 -
1000 1000 - ~1000 - g 1000 |-
: 200 : : . 1ot
-2000 ~2000 - -2000 0 - 1 ~2000
i [ K [ | i
_ " 10( i 50 _
3000 3000 3000 u 3000 m
B IIIIlIIIlIIIlIIIlIII D _|III|III|III|III|III| {' _IIIIIIIIII|IIII|IIII|IIII|IIII|I ﬂ B |IIII|IIIIIIIIIlIIIIlIIIIIIII
4 2 ) F) 4 & _40) _20 ) 20 40 B0 _ap -20 10 ) 10 20 an 20 10 ) 10 20 an
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYi/um
! . [bf ! ™ ff l l Y
B B —80c : :
[ ~ - - [
1500 1500 {— 1500 I —45L 1500
- C —|700 _ -
N 3ol N N N
1000 1000 |- —B0C 1000 e 1000 |-
i —{30( [ [ i
i [ [ —{25( i
500 |- o5 500 - 0 500 | s00 |-
i N 401 B i
o 200 o o ol
i [ u [ i u
i 150 - 300 - i
=500 — =500 — =500 — -Eﬂﬂ:j
B 100 N 201 N [
~1000 | ~1000 | 1000 | 1000 [
- . 100 N -
- a0 - . LI -
-1500 - | T N N NN T N N NN T N N A O N B N o U el R B A i B N A T AR R A i B R e e 0 S1E00 b b b b b by 100 S Ll b b b aa by
4 2 ) 5 4 & _40 _30 ) 20 40 &0 a0 -20 1D ) 10 30 an -ED 10 ) 10 30 an
difi_bpmdaX/um diff_ bpmdaYium difi_bpmdaX/um difi_bpmdaYium
l - l . ] I Y
: —35( : : :
800 800 [ o 800 —30c 800
- —30¢ - - 0
a0 — a0 — a0 — EﬂD:T
- - P - —=st -
400 —25( 400 A0 m 400
200 200 m | P 200 - m 200 ™ -
" 200 - N N "
o i o o
- " 00 " -
o 15( - o o
200 F 200 | 200 m 200 |
400 |- 1o 400 |- 201 400 m 400 |-
~goo | 00 ~goo | —goo |
- 50 - 1ol - -
-800 |- 800 |- e -800 |- -g00 |-
_1o00 L _ 1000 C B Cov b b by P P Py

egressmn—mreg_sam’“

13575 diff bom-o

LLZ pos

-2{) -10

400

300

200

100

400

30C

200

100

— 700

400

300

200

100

300

200

tpan:png

1500

1000

500

-500

=1000

100

=1500

==
III|IIII|IIII|IIII|IIII|IIIIIIIII|II

n |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
-2000 © -5& =40 =30 =20 =10 0 10 20 30 40 0
diff_bpmEfium

°1

3000

2000

1000

=1000

= 2000

=
|IIII|IIII|IIIIIIIIIIIIIIIIIIIII

[
II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
50 40 -30 -20 -10 O 10 20 30 40
difi _bpmEfum

=3000

—700
1500

1000

500

-500

=1000

1500 v b b b Lo e Lo Leraa Lo 0
50 40 =30 =20 10 O 10 20 30 40
diff_bpmEfum

800

600

400

200

- 200

- 400

- 600

- 800

n |IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
~1000 = —5& 40 =30 20 10 0 10 20 30 40 o
diff _bpmEfum



asym_sam1

asym_sam3

asym_samd

asym_sam’7/

rund4197 000 regression asym |

di

2000

=

_'_

1000

=1000

=2000

L I T T 1 I T T 1 I I 1T T 1 I I 1T T 1 I T 1T 1

_bpmd4aX

%2 / ndf 57.49 /45
p0 -3.846 = 7.584
p1 -151.2 £ 6.2

15000
10000
5000
13
=5000
10000

15000

20000

'I‘IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

MM%

-4 2 0

diff_bpm4aX

2 4 6

¥2 / ndf 143.2/ 45
pO —-10.5112 34.73
p1 1736+ 27.2

W

-4 2 0

2 4 [

diff_bpm4aX

¥/ ndf

p0
p1

99.7/1 /45

3.498 = 7.067

70.83£5.79

=500

=1000

=1500

/|
ﬁ

=2000

o

-4 2 0

2 4 6

diff_bpm4aX

¥ / ndf 133 /45
p0 2.7/27 £6.613
p1 3729152
1000

i

=1000

—_—

=2000

=3000

::r'_—
—_—

T
o

J

diff

_bpmdaY

6000

4000

2000

8000 -

. '+ e | ndf 84.17 /30 5500 - %2 / ndf 49.06 / 48
6000 |t -

. s p0 —2.971+ 2.401 2000 p0 -4.164 + 7.560
4000 . - L

. _ 1500 | _
2000 - p1 1804+ 0.3 : p1 2447 £+ 0.96

" 1000

o E

. 500 ] W
2000 -

[ - iy
~4000 RN : i

- u 500 | ' M i }
6000 — ++,,+__ E i

- ~1000 }
~B000 — -

n ~1500 [
1'DDDDI_|III|III|III|III|III| _I|IIII|IIII|IIII|IIII|IIII|IIII|II

40 -20 0 20 40 60 30 -20 -10 0 10 20 30

diff_bpmday

%2 / ndf 50.12 / 30
p0  -13.46 + 36.76 .
D1 66.47 + 4.89 ]
B000 }' |
) |
o : +M+
i i
—EQDUE}
10000 [ |
1 | | | | | | 1 | | | | | I 1 1 | | | | | |
40 20 (1] 20 40

&0

diff_bpmdaY

¥2 / ndf 41 /30 E - x2/ndf 4491/ 48 x2 / ndf 124.5/30
1000
p0 2778+ 1.575 i 00 E_ # p0 456 +7.03 p0 2.322 +1.848 i
Jﬁ - e
p1 171.4+0.2 S oF ] H'L} p1 -15.33 £ 0.89 p1 2829+ 0.4 A
: b | T 5 .
2000 - - 2000 |
. -1000 C
ﬂ__ B 0 "
- ~1500 | :
e : ~2000 |
B 7 =2000 ;— N .
~4000 | n 3 pE
S ~2500 |- “anoor .
- [ - -
B000 = ~3000 £ ) ~BOOO — 4
ORI T T N TN T T N O A O M A N A Bl v brrrr brrrr bv v v g b b b bvr v tvv e bvvr e br v br
40 20 0 20 40 &0 30 -20 =10 0 10 20 a0 20 -10 0 10 20 a0
diff_"bpmdaY dlthpmégL diff _bpmdeY
[ | ¥2 [ ndf 55.51/30 %2 | ndf 45.22 | 48 1500 - ¥2 [ ndf 77.47/30
1000 :— p0 2819+ 7103 pd 0.4583 + 1.0696 ;: 1000 — ] pO 151+ 7.08
i +|JJ‘ p1 —4.991+ 0.944 p1 178.3 £ 0.1 500 pl -20.37 £ 1.56
0o i 'I'M B E
- HV" Hﬂm ‘ i oF M+ H
B ] + ] E . HH& B
1000 - i “s0E
: - 2000 |- ~1000 — _
~2000 |- - y -
. - e ~1500 | -
- - i ~4000 5 n
- - 2000 |
3000 | : : _
I_|III|III| 'IIIIIIIIIIIII|IIII|IIII|IIII|IIII

diff_bpmdeX

20000

10000

10000

20000

30000

%
E

-2

sam

1357°

= 2000

=4000

= 6000

=B000

10000

L ¥*/ndf  52.79/48 2 / ndf 69.22 / 30
- H pO ~2.11+ 3.61 p0  -6.377 + 36.591
- p1 -931.2+0.5 p1 167.2 + 8.1
E 5000 - _

E of |

R ., - 5000 —

: :

'-I'I | L1 11 | 1111 I L1 11 | L1 11 | L1 11 | L1 11 T 11 1{?000 I_

-30 =20 =10 1]

10 20 30

diff

£,

+#ﬁ

ty,

_bpmdeY

¥2 / ndf

-
-

165.9/ 30

1 pO —2.0/11 2.838

p1 -293.81 0.6

=20

=10 1] 10 20 a0

VS diff

“"bpm-fit

post A

diff_bpmdeY

=20

diff_bpmdeY _

=10 1] 10 20 a0

- post

10

pan.png

diff _bpmE

¥2 /[ ndf

pU
p1

421/24

-6.091x 7.702

9.12 £ 1.31

-500

=1000

=1500

=2000

-2500

=3000

|

- ]{m kvl

ﬁ

diff _bpmE

-40 =20 1]

20

w2 /ndf  41.24/24
pO —-18.34 + 33.81
p1 48991+ 5.7
SO0
oF
-5nnnf— M
mnnnf— H
15&005— )
200000 v 1o 1

diff bpmE

~40 =20 1]

20

¥2 [ ndf 47.26 /24
p0 57 +7.1
p 11.92 + 1.21 i}
500
- t H | -
°F |M |
500 f— P« )
~1000 f— }
~1500 f—
- 2000 f— 3
o D R N R T T N R T M N A A A A I |
_40 _20 0 20 40
diff_bpmE
4000
: ¥e | ndf 41.43/ 24
000 -
- p0 3.545 + 6.520
2000 -
B p1 -94 18 +1.09
1000 [~ |
-
~1000 E— | }|
- 2000 f— u{ -
_.-mnnf— -
:I | | | | | | | | | 1 | | | | | | I- | |
40 20 0 20 40




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

diff_bpmdaX

¥ < ndf 45.07 ! 45
pO —-2.437 + 1839
p1 0.08231 £ 1.50643 IE
U i
; |»H
-zﬁn:— ] }

- 400

d

BOO -
GO0
400

200

=200
- 400
-600

- 800

400

200

=200

- 400

diff_bpmdaY

-4 -2 1] 2 4 6
E f ndf 36.89 /45

p0 0.7562 + 3.2485

-5.561 £ 2.660

}: { naf 48.65 /7 30

pO —2.277 +1.858

p1 0.01916 + 0.2487Y9 N -
ﬂ_ Hl wq e ﬁiw

I

-E{}Df—

s00f |

—4{?03—

-5{?'3'|:—I|||I|||I|||I|||I|||I
-40 =20 0 20 40 B0

diff_bpmdaY

¥ | ndf 32.74 1 30

po 0.2648 + 3.2756

y———)
Y

TII|III|III|III|III|III

4 -2 1] 2 4 [

: v2/ndt  47.76/45
: | 00 2823 + 1.515
:— pl  —1.664 + 1.248

||
+{+ ua m #W}

-4 -2 1] 2 4 6

diff_bpm4aX

w2 | ndf 50.34 / 45
po 06168 + 1.0180
p1 2087 +0.827
: *W
-mn:— } } }
-E{}D:— } )
-:mn:—

~1000

ZD;— {‘;LETE + 0.4347 “ -
i }1 el

~1200

~40 -20 1] 20 40 60

diff_bpmdaY

200 1
Al .

¥= [ ndf 48.18 / 30

p0 2.624 £ 1.533

diff_bpmdeX

¥% ! ndf 51.39/ 48
600 —

- p0 —2618+ 1.836
400 N } p1 —0.09491 + 0.22974

i)

200 - }

=30 -20 =10 1] 10 20 30

diff_bpmdeX

¥= [ ndf 55.49 /748
600

:mnf— { po

200 —-’

—-0.6982 £ 3.2355

—-0.4059 = 0.4061

diff_bpmdeY

¥/ ndf 43.49 /30
400
p0 —2.446 £ 1.857
200
B —0.008613 £ 0.411994

Hm WWMH Hﬂ H

-200 - |

~400

—E{?EI_—
_||_|||||||||||||||||||||||||||||||
=20 =10 1] 10 20 a0
¥ | ndf EEE?fﬂﬂ'

po 0.5697 + 3.2749

p1 0.4329 + 0.7260

MWW ‘| }

by

400

e R

600 |

800 |

-|I|IIII|IIII|IIII|IIII|IIII|IIII|II

=30 =20 =10 1] 10 20 30

diff_bpmdeX

-0.1317 £ 0.2052

f

200 —

¥* { ndf 5247 /48
p0 3.062 +1.517
p1 0.08356 + 0.19105

=400 -

- 600 T BT BT -| Lo |
=40 =20 1] 20 40 B0

¥ 2 { ndf EE 83 /30

pO 0.4487 +1.0264

{

p1 0.09471 £ 013530
- [T ey
of W“ W
H}D_—

B T
1
1

200 —

=300 N

_ |
of Wﬁw%wmﬂw }

-200 — |

—400F
Do lvvoetvvrs bvvrr bvrra v b o b

=30 =20 =10 1] 10 20 a0

diff_bpmdeX

12/ ndf 50.06 / 48

pd 0.4135 + 1.0134

p1 0.1995 + 0.1280

-100 |-

~200

-300 :—

ma
oF J ||W+w%*’¢#ﬁ*”|

o0 |
400 |- |
-EEID:—
[ 1 I L1 11 I L1 11 | L1 11 | | I I | | L1 11 | L1111
20 10O 0 20 a0

diff_bpmdeY

600

400

200

-200

~400

- 600

1EDEI

- %= [ ndf 18.91 /24
p0 -3.158 £ 1.852
p1 -0.1673 £ 0.3131

- M Mm;*

-40 -20 0 20 40
¥2 / ndf 18.96 /24
- p0 —0.0954 + 3.2682

1000

800

600

400

200 [

: WWM#M |

- 200

-400

- 600

diff bpmE

1 { naf 4819/ 30

300 —
B p0 279+ 153

200
C p1 —0.07186 + 0.34058

W

gt {H M |

!

p1

—0.06392 + 0.55709

J

|

¥2 / ndf 2117 /24
pO 3.567 +1.530
p1 0.03471 £ 0.26045

~40 =20 1]

20 40

-300 [
Do dv v v v v vra bvv o braag
=20 =10 1] 10 20 an
E,Fnd[ EEﬂ-Efﬂﬂ'

po 0.4611 + 1.0260

p1 0.1126 + 0.2252

w E{WWWH

=100 |‘
—E[?EI — ‘~

—_—
—_—

-200

-400

diff _bpmE

It
ML*+“M*++M}

-40 =20 1]

20 40

'IIIIIIIIIIIII|IIII|IIII|IIII|IIII

rund197 000 regression reg sami357°vs dlf “bpm-fit postpan.pne

w2 | ndf 19.31/24
po 0.1416 + 1.0236
p1 0.1683 +0.1733
100 - ‘ )
u:— H‘waﬁ ” {
100 } )
~200

|

-40 -20) 1]

20 40




asym_sam1

asym_sam3

asym_samd

asym_sam’7/

8000

6000

4000

2000

=2000

-4000

-6000

-8000

10000

diff_bpm4aX/um

30000

20000

10000

10000

20000

30000 =, | |

diff_bpmdaxsum

=2000

~4000

6000

8000

10000

Jn
o
o

diff_bpmda¥ium

=

30000

20000

10000

10000

20000

IIIII
-

30000 [

~40 =20 1] 20 40 60
diff_bpmda/um

=

10000 - 10000 [~
8000 8000
000 000
4000 | 4000
2000 - 2000 -
o of-
2000 2000
—4p00 —4000 |
-6000 | —g000 - f
SBO0O = ) v v v b b Ly Ly “BO0O ) L v by b by
4 -2 0 2 4 40 20 0 20 40 B0
diff_bpmdaXium diff_bpmdaYium
! . [bf .
| | I
4000 4000
2000 2000 —
o+ o
2000 . 2000 -
4000 | 4000 -
6000 6000

rund197 000 regression-asym saml357°

8000

6000

4000

2000

=2000

~4000

~6000

8000

10000

30 20 -10 0 10 20 a0
diff _bpmdeX/um

30000

20000

10000

10000

20000

30000

=30 =20 =10 1] 10 20 a0
diff_bpmdaX/um

=

10000

8000

6000

4000

2000

=2000

=4000

~6000

-8000

30 20  -10 0 10 20 a0
diff_bpmdeX/um

4000

2000 =

=2000

=4000

~6000

vs diff bpm:=scat

= 2000

=4000

= 6000

= 8000

10000

1 1 | 1 1 11 | 1 111 I 1 1 11 | 1 1 11 | 1 111 I 1 11
20 -10 0 10 20 30
diff_bom4eY/um

30000

20000

10000

10000

20000

30000

AN N T N N N A B B A A A O
20 =10 0 10 20 30
diff_bpmdea¥ium

diff_bpmdeY

10000

8000

6000

4000

2000

= 2000

=4000

= 6000

SBOOO = ) vl b b b b

20 -10 0 10 20 30
diff_bpmdaY/um

4000

2000

= 2000 —

=4000 [

= 6000

-20 =10

- postpan.png

8000

6000

4000

2000

=2000

~4000

~6000

8000

10000

I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
=50 40 =30 =20 10 0 10 20 30 40
diff_bpmEfium

30000

20000

10000

10000

20000

30000

50 -40 30 20 10 O 10 20 30 40

difi _bpmEfum
diff _

[
10000

8000

6000

4000

2000

=2000

=4000

= 6000

-8000

thrvorbevesbvrva v b v bvona bvvva bena
50 40 =30 =20 10 O 10 20 30 40
diff_bpmEfum

4000 —

2000 —

=2000 —

=4000 =

= 6000

I_I|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII
50 40 30 20 10 0 10 20 30 40
diff _bpmEfum




= I | |
1500 R _ 1500 [~ . L 1500 [ 1500 [ 1500 |
1000 1000 1000 1000 1000
500 500 500 500 500
0 0 0 0 0
reg_asyin_Ssain 500 500 500 00 500
LI I
1000 1000 1000 1000 1000
~1500 1500 1500 ~1500 1500
11 1 || L 1 1 | _|||||||||||||||||||||||||||||||||||||||||||||||
~2000 - - 2000 n = - 2000 - 2000 <2000 I LHLLLLLE LU LU LU LU UL ELLLL
diff_bpmdaXium diff_bpmdaYium diff_bpmdeX/um diff_bpmdeYium diff_bpmEium
. [bf ] l 2{ . . . ff . ff
| I B I B I | B
3000 o : 3000 _ . 3000 | o 3000 3000
2000 [ 2000 2000 2000 [~ 2000
1000 |~ 1000 |- 1000 1000 |- 1000 |- -
o = o ofF - ol
g— y — 000 ~1000 | ~1000 1000 | ~1000 |
-2000 |- ~2000 [ -2000 ~2000 |- ~2000
~3000 ' : ~3000 - -3000 ~3000 - ~3000
_III |||| |||| |||| |||| L1 1 _ll | | | || | I 1 || | | | || | | | | _II||||||||||||||||||||||||||||| _|||||||||||||||||||||||||||||||||||||||||||||||
4 i 0 2 4 6 40 _20 0 20 40 60 20 10 D 0 20 30 50 -40 -30 -20 -10 © 10 20 30 4D
diff_bpmdaX/um diff_bpmdaYium diff_bpmdaX/um diff_bpmdaYium diff_bpmEium
. . . . ! . ff
1500 | - 1500 [ - 1500 | - 1500 [ 1500 |
1000 | 1000 | 1000 1000 | 1000 |
S00F © .t 500 | 500 500 500
reg_asym_sam ok : n X .
=500 =500 — =500 =500 - -a00
~1000 | ~1000 | ~1000 1000 [ ~1000
1800 = v v b v by b by 1800 =) v v v by v by by gy ~1500 =1500 =100 oy b bl bernr b beva e b
4 2 0 2 4 B 4D ~20 0 20 40 B0 50 -40 -30 -20 -10 © 10 20 30 4D
diff_bpmdaX/um diff_bpmdaYium diff_bpmdeX/um diff_bpmdeYium diff_bpmEium
. . . . ! . ff ] E
. I n I L L I
800 800 [ 800 800 800
600 - B00 [~ 600 600 [~ 600 -
400 400 400 400 400 -
200 200 200 200 200
= = 0 o - o
reg aS y m Sam -200 -200 -200 ~200 -200
400 |- 400 |- -400 400 |- -400 [
600 |- 600 - 600 -600 |- -600 |-
800 800 - ~800 -800 [ o 800 [~ L
B I |||| ||| |||| |||| 11 1 _.1_DDD_|| _.1_D|:|D-| ||||||||||||| I —1'[:":“:'TIlIIIIIIIIIIIIIIlIIII|Illlllllllllllllllllllll

=10 -50 -40 30 -20 10 O 10 20 30 40

rund197 000 resression-reg saml357:vs diff bpmiscat postpan.pne



